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INTRODUCTION

In this lesson, Composition - Weapons and Equipment 1, the
armament of a Czechoslovak tank is describhed in only those details
needed for an effective interrogation. The technical data, which
change with weapons and time, have been omitted.

The interrogation dialog exploits the source's knowledge of
the different types of tanks used by his units, their characteris-
ties, limitations, and their armament.

OBJECTIVE

At the end of this lesson you will be able to guestion the
source and obtain whatever information is known to him about the
tanks used by his units, their armament, as well as their advan-
tages and limitations:. You should be able to speak with confidence
and comprehend spoken and written texts in this topical area without
consulting lexical aids.
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SUGGESTIONS FOR STUDYING

“Remember, this program is self-instructional, and YOU are
the only person responsible for your learning. It is up to YOU
to determine where, when, and how you want to proceed. The fol-
lowing hints may help you to achieve the best results.

1. Make sure you have all the necessary materials and
equipment before starting.

2. Regular, short, and frequent working periods are recom-
mended.

3. Find a quiet, comfortable place where you will not be
disturbed.

4. Do not write your answers in this booklet. Use your
own papere.

Repeat each exercise until you thoroughly understand the
contents and can completely perform the required tasks before
moving on to the next exercise.
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LESSON ORGANIZATION

The Vocabulary Pretest, designed to give you a preview of the vo-
cabulary you will need to know to attain the objective of this
lesson, provides Czech sentences with key words and phrases under-
lined to be translated in writing.

Study Resource 1 is the taped vocabulary with additional sample
sentences together with the words and phrases introduced in the
pretest. The Vocabulary Posttest is based on these vocabulary
items.

The Vocabulary Posttest measures your knowledge of some key words/
phrases contained in Study Resource 1.

Study Resource 2 is a Czeéech narrative describing the armament of a
Czechoslovak tank. Practice Exercises 1-3 and the Self-Evaluation
Test, Part 1, are based on Study Resource 2.

Study Resource 3 is part of a continuing interrogation used in
these lessons. Practice Exercises 4-6 and the Self-Evaluation Test,
Part 2, are based on Study Resource 3.

The Self-Evaluation Test consists of two parts:

Part 1 consists of 10 multiple-choice statements based on Study
Resource 2.

Part 2 is a taped dialog of 10 exchanges based on Study
Resocurce 3.

Translations of Study Resources

The Enrichment Supplement describes the Soviet 85mm auxiliary-
propelled antitank gun and provides you with additional vocabulary
and experience in translating Czech. An exercise testing your
knowledge of Czech vocabulary and grammar is also included.
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VOCABULARY PRETEST

Instructions: - Write the English meaning of the underlined words
and phrases as used in the context of each sentence. Skip the
ones you cannot translate. Check your answers with the key.

1. UTep je zlomeny.

2. Jaky dojezd md to vozidlo?

3. Celd kolébka se musi vyménit.
4. Jaky je vojensky ndzev t€ zbrang?

5. Uplny zdv&r je €dst p¥isluSenstvi.

6. NamaZte sdiky toho kandnu!

7. Se¥izeni trvalo jen deset minut.

8. Reorganizace se tykd viSech sloZek ministerstva obrany.
9. Ten kandn md ru®ni spulEadlo.
10. Vidfte st¥flny toho opevn¥ni?

11. PopiSte funkeci uzdvery!

12. Na¥e postaveni umoZfuje vyst¥el k zdpadu.
13. Jaky v¥vrt md hlavell toho d&la?
14, Zdvornik je opotF¥ebovany.

15. Ten kandn md nov€ brzdovratné za¥izeni.

16. Ten tank je vybaven kandnem s hladce vrtanou hlavni.

17. Hladky vyvrt (hlavn&) neudili st¥ele rotaci.

- -

18. Chladfci Zebra zabrafuji p¥eh¥Fivdn{i.

19. Tahle jehlovd loZiska jsou vysoce kvalitni.

20. Umite pouZivat kolimdtorovy zamé&YXovat?

21. X vlastnimu vyst¥elu dochdzi v ndbojové komofe.

o~

22. Ndm8rové ¥ifdidlo md krdtkou rukojef.




23.

24.

25,

28'

29.

30.

31.
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Zdvadu zplsobil vadny nosi¥ zdvorniku.

Za¥adte se do pochodového proudu!

Tohle je posouva@ ndbojd nové konstrukce.

HlaveX toho kulometu nemd tlumi€ ohn@E.

Ta torzni ty& je uvolnénd.

Tohle jsou vodfc{ kladky.

Objednali jsme n¥kolik vratnych pruZin.

K vypuknuti vdlky d4o%lo v poledne.

Prohl&dl jste vytahova?® ndbojf?
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STUDY RESOURCE 1

Instructions: Below is a list of the new vocabulary items that wi
be used in this lesson. Each Czech word or phrase will be repeate
twice on tape and then the example sentence will be given once.
Repeat each word or phrase and the example sentence to master this
vocabulary before going on to the next part of the lesson.

Slovitka

1. Tep = pivot, trunnion
Oba Tepy pot¥ebuji namazat.

Both pivots need to be lubricated.

2. dojezd - (road) range
Ten tank md dojezd 400 km.

That tank has a range of 400 km.

3. kolébka - (gun) cradle
fq'?f . : To d¥lo md& poXkozenou kolébku.

That gun has a damaged cradle.

4. ndzev - nomenclature, name, term
Vojensky ndzev toho systému nezndm.

I don't know the military nomenclature of that system.

S. p¥isluSenstvl - accessories, attachments, fixtures

Tistici soupravy pat¥i k p¥Fislu¥enstvi zbrand.

Cleaning kits are part of the weapon accessories.

6. sdfiky - rails, gun rails
-~ Sdfiky opravi pojfzdnd dilna.

The mobile repair shop will repair the gun rails.

6
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7. se¥Yizeni - adjustment, setting (hechanical), alignment
Za sprdvné se¥izeni zodpovidd Teta¥ Krdl.
Sergeant Krdl is responsible for the correct setting
(adjustment, alignment).

8. sloZka - component, part, element

Lidov€ milice jsou slo¥kou Teskoslovenskych ozbrojenych
sil.

The People's Militia is a part of the Czechoslovak
armed forces.

9. spuS¥adlo - trigger mechanism
SpuS¥adlo slouZf k odpdleni zbran®.

The trigger mechanism is used to fire a weapon.

10. st¥ilna - firing port
St¥{lny toho opevnidni jsou malé.

The firing ports of that fortification are small.

11. uzdvé@ra - receiver closure
-

UzdvEra uzavird zadni Tdst pouzdra zdveéru.

A receiver closure encloses the rear part of the receiver.

12. vy¥st¥el - field of fire, shot, discharge
V¢ySina Smrk umoZhuje kruhovy vystFfel.

Smrk hill provides a circular field of fire.

13. vyvrt - bore
Vyvrt hlavn® m@Ze byt hladky nebo drdZkovany.

The bore of a barrel can be smooth or rifled.



14.

15.

16.

17.

18'

19.

20.
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zdvornik - bolt lock
Zdvornik byl pY¥ekonstruovdn.

The bolt lock was redesigned.

brzdovratné za¥izeni - recoil mechanism

Brzdovratné za¥{fzeni toho d8la potF¥ebuje opravu.

The recoil mechanism of that gun needs repairs.

hladce vrtand hlavell - smoothbore barrel

N8kterd d8la maji hladce vrtanou hlaveT.

Some guns have a smoothbore barrel.

hladky vyvrt - smooth bore

Minomety maji vEt¥inou hladky vyvrt.

For the most part, mortars have smooth bores.

chladfici Zebro - c¢ooling rib, cooling fin

Chladici Zebra odvdddj{ pF¥ebytelné€ teplo.

Cooling ribs dissipate excessive heat.

jehlové loZisko - needle bearing

Jehlovd loZiska vydrZi zna®ny tlak.

Needle bearings withstand considerable pressure.

kolimdtorovy zam&Yovad® - collimator sight

Kolimdtorovy zam8Fova® se pouZivd pF¥i st¥elb® na vzduSné
-
cile.

The collimator sight is used when firing at aerial target
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23.

24.

25.
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ndbojni (ndbojovd) komoré - (round) chamber

Musite vyZistit nibojnkaomoru!

You have to clean the chamber.

ndm¥rové ¥fdidlo - elevating gear

Ndm3rovym ¥{fdidlem se nastavuje elevace a deprese.

The elevating gear sets the elevation or depression (of
the gun).

nosi€® zdvornifkxu - belt lock carrier

Nosi¥ zdvornfku je poSkozeny.

The bolt lock carrier is damaged.

pochodovy proud - march column

Rotnf vozidlo postupuje za pochodovym proudem.

The company vehicle is advancing behind the march column.

posouva?® ndbojd - feed mechanism

Ten kulomet md vadny posouva& ndbojil.

That machinegun has a faulty feed mechanism.

£lumi® ohn& - flash suppressor (hider)

Tlumi® ohn& je na dst{ hlavn@é.

The flash suppressor is on the muzzle.

torzni (zkrutnd) ty€ - torsion bar

To jsou torzni tyZe pro tanky T-72.

These are torsion bars for T-72s.
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29.

30.
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vodfcf kladka - track-support roller, bogie wheel

Mdme jeEtE dve ndhradnf vodici{ kladky.

We still have two spare track-support rollers.

vratnd pruZina - return spring

vratnd pruZina se zlomila.

The return spring broke.

vypuknut{ vdlky - beginning of the war, outbreak of hostilit

Nebyli jsme pF¥ipraveni na vypuknutni vdlky.

We were not prepared for the outbreak of hostilities.

vytahova¥ ndbojd - extractor (cartridge)

Vytahova® ndbojd funguje bezvadné.

The extractor functions faultlessly.

10
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VOCABULARY POSTTEST
Instructions: Using the words or phrases below, complete the
following sentences.
kolimdtorovy bojem se¥izeni torzni tyT
chladici Zebra dojezdu ndzev vypuknuti vdlky
sloZek jehlovd loZiska vyvrtem vratnd pruZina
vytahova®e ndbojd kolébce vodifcf kladka spuStadlo
vyst¥el st¥edni tanky tlumi& ohn® hladky vyvrt
1. Pro zvysSeni jsme pou¥ili p¥ifdavné nddrZe.
2. Ten kandn je uloZeny v .
3. Takovy vojensky jsme nikdy neslySeli.
4. Bezporuchovy provoz je podminEn sprdvnému zbran@g.
5. Jednou ze systému pF¥edvojenské vychovy je Svazarm.
6. K odpdleni zbran¥ jsme museli pouZit rulni .
7. ©Palebn€ postaveni musi umoZfiovat dobry .
8. Modernf tankové kandny maji hlaveRl s hladkym _ - .
| 9. Hlaveh kandnu st¥edniho tanku T-72 md .
10. Pro st¥elbu na vzdu3né€ cile se pouZivd zamé¥ovat.
11. Diplomatdm se nepoda¥ilo zabrdnit .
12. zmenZuje zdblesk u dsti hlavn@E.
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STUDY RESOURCE 2

Instructions: The following narrative contains information about
Czechoslovak tanks and their armament. Read the narrative several
times until you are familiar with the content. Then listen to the
narrative on tape, following the text in your book.

V¢¥stroj a vyzbroj tankovych jednotek

V¢¥zbroj a vystroj tankovych jednotek TSLA se stdle zdokonaluje
a z toho ddvodu se periodicky nahrazuje. ZlepSuje se pancif¥ tankv
zvEtEila se rd¥e a d€lka hlavn® kandnu, aby byl W€inn¥jS{. Zvysus
se rychlost st¥elby p¥iddnim automatického nabfjeni. ZlepSuje se
p¥esnost st¥elby, hlavnE& za noci, pou¥fvdnim infrap¥istrojid
(infradalekohledu). "

St¥edni{ tank je vyzbrojen tankovym stabilizovanym kandnem.
T-55 m& 100 mm kandn, T=62 115 mm a T=72 125 mm kandn. Ve VveZi je
s kandnem sp¥a¥eny tankovy kulomet rdZe 7,62 mm. K protivzdulné
obran® md tank na viZi upevndny protiletadlovy kulomet rdZe 12,7 v

Tankovy kandn st¥{li pFfevdEZnd p¥Fimou st¥elbou. Je urden k
ni%eni pozemnich cfld jako jsou nap¥T.:

- tanky, samohybnd d8la, obrnénd auta a transportéry, st¥ilny
opevndni a pancéfovych kupoli;

- d8la v3eho druhu a jejich obsluhy;

- ¥ivd sfla nep¥ftele a jeho zbran%E;

- velitelskd stanoviSt® a pozorovatelny nep¥itele a jeho or gd
veleni;

- d%lost¥elecké a minometné baterie, pochodové proudy, vojska
ve shromaZdi¥tich apod.:

- lehk€ obranné objekty:;

- dopravni a spojovaci prostF¥edky.

Kandn se skl1£dd€ z hlavn®, zdvéru, zdvérové poloautomatiky,
kolébky, brzdovratného za¥izeni, nd{m¥rového ¥{fdidla, vyvaZovate a
ochranného krytu se spoudtdcim dstrojim.

HlaveX d4vd stFele poldtedni rychlost, smiEr letu a u drdZkova
hlavn® taky rotaci. Na hlavni je p¥ipevn®n ejektor, ktery odstra
Yiuje plyny z vyvrtu hlavn® po vyst¥elu a zabezpeBuje E€istotu vzdu
chu v bojovém prostoru. NZ3které kandny maji taky dsTovou brzdu,
xterd slouZi ke zmen3eni zdkluzu hlavn®E.

zdv8rovd poloautomatika md klinovy zdv8r. -K1lin se pohybuije

vodorovn&, uzavird vyvrt hlavn¥® pF¥ed vystFelem a pF¥i vyst¥elu. P
vyst¥elu vyhazuje vyst¥elend ndbojnice.

12
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100 mm tankovy stabilizovany kandn
5 100mm Tank, Stabilized qun

hlaveli kandnu

pancé¥ovy kryt kandnu

kolébka

brzdové za¥izeni

tankovy zam&Y¥ovaci dalekohled
stropn{ panci¥

sklopnd €édst ochranného krytu
pevnd Tdst ochranného krytu
ruéni spoustéci pdka
ndmErové ¥ididlo

gun barrel

armored gqun cover

cradle

recoil mechanism

tank telescopic sight

top (ceiling) armor

folding part of the protective cover
fixed shield of the protective cover
manual trigger lever

elevating mechanism

13
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z4vErovd poloautomatika slou¥f k samoCinnému otvirdni po vy-
st¥elu, k vyhozeni ndbojnice a k zavirdni po zasunuti ndboje do
ndbojni komory.

Kolébka slou¥f k vedeni hlavn¥d p¥i zd&kluzu a predkluzu. Ko=-
1ébka je spojena s ndmErovym ¥Fididlem k nastaveni ndm&ru hlavn®
dgla.

Brzdovratné za¥fzeni brzdf zdkluz hlavnd a vraci ji do plvodn
polohy. Skl1dd4 se z kapalinové zdkluzové brzdy a vzduchokapali-
nového vratniku.

-~

NdmZrove ¥7didlo slouZf k nastaveni elevace a deprese.

Ochranny kryt chrdni osddku tanku pTed ndrazy zadku hlavn®
bEhem st¥elby, p¥i jejfm zdkluzu a pfedkluzu. Md dve Tdsti:
pevnou a sklopnou. Sklopnd €dst md horni polohu, pouZivanou p¥i
st¥elbd a dolni pochodovou polohu.

SpouStici dstrojf se uvddi v Tinnost bud stladenim pdky rulni
spu$¥adla nebo spoultfci pdky elektrického spu3fadla, umist&né na
rukojeti koleTka.

Kolébkové Bepy sloufi k uloZeni kandnu ve veZi tanku.
7.62 mm tankovy kulomet

Sp¥aZeny kulomet je upevn&n v tanku rovnob&Znd s kandnem.
M{¥idla spY¥aZeného kulometu jsou sou¥dsti tankového zam&F¥ovaciho
dalekohledu. Sklddd se z hlavn®, pouzdra zdvéru s hlavhovou
spojkou, zdvEru s podavafem, spouZticiho dstrojf s vratnou pru-
¥inou, napinaciho tdhla a sdn@k.

Hlavel je vymSnitelnd. Vyvrt hlavn® md Ety¥i drdzky a Ctyti
pole. WNa dsti hlavnZ je naSroubovdn kuZelovity tlumi® ohné. Na
povrchu hlavn¥ jsou chladfci Zebra.

Pouzdro zdviru spojuje hlavni Tdsti kulometu v jeden celek.
Md tyto Edsti: pouzdro s pfednim a zadnim zdchytem, pistovou tru
bici a zakladnu pouzdra podavaZe. Hlaviovd spojka spojuje hlavef

s pouzdrem zdvdru a umoZnuje se¥{zeni vfle mezi Telem zdvorniku e
zadkem hlavn@.

Zzdvdr md pifst s nosifem zdvorniku a zdvornik. PIst s nositen
uvddi do pohybu pohyblivé soufdsti kulometu, tj. zdvornik, vyta-
hova¥® ndbojf a posouvald. 2zdvornik zasouvd ndboj do ndbojové ko-
mory, uzamykd ji a ddernikem pFTivede ndboj k vystFelu. Po vyst¥e
vytahuje ndbojnice z ndbojni komory a pomoci vyhazovaTe je vyhazu
Podavad poddvd ndboje pFed ndbojni komoru. Posouval® posouvd pds ¢
ndboji do vstupniho otvoru podavatTe.

14
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Spou¥t&8ci{ Wstroji se sklddd z uzdvéry s elektromagnetickym
spu¥fadlem a ze spuStadla. Uzdv8ra uzavird zadni st€nu pouzdra
zdv8ru. Vlastni spuStadlo je uloZend v pouzd¥e zdv8ru. V p¥ipads
poruchy elektromagnetické Edsti je moZné odpalovat ruini. Vratnd
pru¥ina vraci zdvEr do pY¥edni polohy a tim ddvd dderniku potFTebnou
energii k dderu na zdpalku ndboje. SpuStadlo zadrZuje nosit zd-
vorniku v zadni poloze nebo ho z t€ polohy uvolAuje.

Napfnaci tdhlo slouZi k rudnimu napindni (nataZeni) zdvéru.
Tahem dozadu tdhlo undS{ s sebou i nosi€ zdvorniku.

sdfky jsou p¥edni a zadni. Spojuji kulomet s lafetou. V
pF¥ednich sdfikdch je umistdny tlumi®, ktery vyluTuje pF¥i st¥elb®
zpetné€ rdzy kulometu.

7,62 mm tankovy kulomet SGMT
7 .62mm Tank Machinegqun SGMT

charging handle

napinaci tdhlo : .
electric trigger cable

kabel elektricke spouSte

1 uSfadlo s ¥iditky - trigger with handles

2. priklop podavage - feeder cover

3. pouzdro podavace - feedtray i )

4. t€lo kulometu - body of the machinegun (receiver)
5. tlumi€ ohné - flash suppressor

6. hlaven - barrel

7. rukojeE - handle

8- -

9. -

12,7 mm protiletadlovy kulomet

Protiletadlovy kulomet se sklddd z hlavn@g, ouzdra zdvéru,
y p

-~ Al -»~ - -~ -~ - .
zdveéru, uzdvéry se spuSEadlem, podavaCe a miridel.

HlaveR md vyvrt s pravotolivym zdvitem s osmi drdZkami a osmi
poli. Na p¥edni Edsti je dstovd brzda, muSka a plynovy ndstavec
s reguldtorenmn.

Pouzdro zdv&ru md v horni Edsti oko pro upevnéni hledi a na
~ - -, 3 ) —— - - -~
p¥edni Tdsti jsou dva Cepy pro upevné&ni kulometu ke kolébce
podstavce.

15
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Mi¥idla protiletadlového kulometu se sklddaji z rdmeTkového
hledi pro stFelbu na pozemni cile a kolim&torového zamé¥ovie pro
st¥elbu na vzdusné cile.

K protiletadlovému kulometu pat¥i na tanku upevnény podstavec,
ktery umoXfuje kruhovy vyst¥el pod libovolnym ndmérem od - 4° do

85°.

Podstavec je mo¥né zajistit ve t¥ech polohdch:
bojové pochodové a pochodove.

bojové,

je upevn®na schrdnka na ndbojovy pds.

Ddle je tam jeZtE bra¥na s p¥isluSenstvim. PFisluSenstvi
obsahuje nd¥adf, ¥Tistic{ prost¥edky, olej a dplny zdveér.
S

T
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12,7 mm protiletadlovy kulomet vz.

12.7mm Antiaircraft Mach

kulomet

sdné

pggistka kolébky

viko zamérovace

zadni st&na zamérovate

kolimdtorovy zngEovaE

rdmeTkoveé hledi

jazycek spouste

objimka spouStEciho
za¥izeny

lanko

-

Cep

otocny kruh

pohyblivd spojka

rukoje¥ horizontdlniho
zami¥eni

pojistka ototné vEZiTky

pojistka vidlice

spoust&ci pdka

upinaci Srouby

vidlice

drZdk schrdnky ndbojového

pdsu
mald zpruha vyvaZovace
otvor
trubka vyvaZovale
zpruha tlumiCe
velkd zpruha vyvaZovaCe
pistnice
vodici Sroub tlumiCe
kolébka

AN L I

memkﬁwmrrfg

38/46 (DBK)
inequn model 38/46 (DSK)

machinegun

rails

cradle lock

sight cover

rear sight plate
collimator sight

(rear) frame sight
trigger :
trigger mechanism holder

cable

pin

turning ring (mount)
adjustable linkage
horizontal aiming handle

revolving mount lock

fork lock

trigger lever, release lever
fastening screws

fork

ammunition (belt) box holder

small equilibrator spring
opening

equilibrator tube
buffer spring

large equilibrator spring
giston rod

uffer adjustment screw
cradle

Na konzole z levé strany podstavce
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PRACTICE EXERCISE 1

Instructions: You will hear 12 Czech sentences on tape. Stop
the tape and repeat each sentence until you can say it with ease,
then select the correct English translation of each sentence.
List your answer {(a, b, c, or d) on a separate piece of paper.

1. a. The armament of the CPA is constantly being replaced.
b. The equipment of the CPA is sometimes removed:
Coe The armament and equipment of the -CPA is constantly
being improved.
d. The armament and equipment of the CPA is constantly
being changed.
2. a. The medium tank is armed with a stabilized tank gun and
coaxial machinegune.
b. The medium tank is armed with a stabilized gun and a
light machinegun.
Ce The medium tank is armed with a stabilized gun and an
excellent machinegune.
d. The medium tank is armed with a stabilized gun and a
medium machinegun.

3. ae. The tank qun is used exclusively for direct fire.
b. The tank gun is used occasionally for indirect fire.
C. The tank gun is used primarily in the direct fire role.
d. The tank gun is used predominantly to fire at moving
targets.

4. a. The gun barrel gives the round speed, direction, and
also its spinning movement.

be. The gun barrel gives the round its muzzle velocity,
direction of flight and, with a rifled barrel, also its
rotation.

C. The gun barrel gives the round its muzzle velocity and,
in the case of a rifled barrel, also its spinning
movement.

d. The gun barrel gives the round its direction of flight
and, in the case of a rifled barrel, also its rotation.

5. a. Some guns have a narrow brake, which helps increase
muzzle velocity.
be. Some guns have a muzzle brake, which improves muzzle
velocity.
Ce. Some guns have strong brakes, which offset barrel recoil.
d. Some guns have a muzzle brake, which reduces recoil.
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11.
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b.
Ce
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The recoil mechanism returns the barrel to its original

position.

The recoil mechanism increases recoil of the barrel and

returns it to the original position.

The recoil mechanism brakes the recoil of the barrel and
returns it to the original position.

The recoil mechanism brakes the recoil of the barrel

in the forward positione.

The recoil mechanism consists of a hydraulic brake and an
air-filled return mechanism.

The recoil mechanism consists of a muzzle brake and a
pneumatic-hydraulic return spring.

The recoil mechanism consists of a hydraulic brake and a
pneumatic-hydraulic return mechanism.

The recoil mechanism consists of an automatic brake and
a pneumatic~-hydraulic return mechanism.

The trigger mechanism is activated by turning on either
the manual trigger or electric trigger.

The trigger mechanism is deactivated by pulling either
the manual trigger or the electric trigger.

The trigger mechanism is deactivated by depressing the
manual trigger on the control column or the electric
trigger.

The trigger mechanism is activated by depressing either
the manual trigger or the electric trigger.

The coaxial machinegun on top of the tank has a
replaceable barrel.

The coaxial machinegun on top of the tank has a
removable barrel.

The coaxial machinegun in the turret of the tank has a
replaceable barrel.

The coaxial machinegun in the turret of the tank has a
rifled barrel.

There are cooling fins inside the barrel.
There are cooling fins on the surface of the barrel.
There are cooling rods under the barrel.
There are cooling rods along the side of the barrel.

The bolt carrier group of the machinegun has a piston
with bolt carrier and bolt.

The bolt mechanism of the machinegun has a bolt carrier
and bolte.

The bolt of the machinegun has a piston with a bolt
carrier.

The piston of the machinegun has a bolt carrier and bolt
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12. a. The feedarm places rounds into the chamber.
b. The feedarm places rounds in front of the chamber.
Ce The belt places rounds-in front of the chamber.
4. The belt places rounds into the chamber.

4
5 ‘ /6 7

T S——

Kolébka
Cradle
1. otvor pro uloZeni hlavné - opening for (insertion of)
the barrel
2. vlozky - liners
3. loZiskovd panev - barrel bushing
4. ndlitek pro ulozenl - recoil mechanism holder
brzdoveého za¥izeni
5. otvor pro ulozenl - recoil brake opening
zdkluzoveé brzdy
6. otvor pro uloZeni - recuperator opening
vratkniku
7. konzola tankového za- - tank telescopic sight console

m&Y¥ovaciho dalekohledu
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PRACTICE EXERCISE 2

Instructions: Change each of the following sentences into quest-

ions in Czech. Each question should focus on the underlined part
of the sentence.

10.

11.

12,

The length of the barrel and the caliber of the tank's main
gun was increased to make it more effectivee.

The tank's machinegun coaxial with the main gun is 7.62mm.

The turret-mounted 12.7mm machinegun is designed for the tank
antiaircraft defense.

The gun's rifled barrel gives the round rotation.

After firing, the wedge-shaped breech ejects the spent casinc

The elevating mechanism sets the elevation and depression.

The protective cover protects the gun crew from the barrel's

recoil (backward and forward movement).

The cradle trunnions align the gun in the turret of the tank.

The barrel of the coaxial machinegun has four lands and

grooves.

The main parts of the machinegun are connected to the receive
to form one unit.

The piston with the bolt carrier activates the moving parts
of the machinegun.

The machinegun's cocking handle is used to engage the bolt

manually.
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Instructions: On the tape you will hear 12 guestions in Czech.
These questions are based on information from Study Resource 2.

Write the answers to these questions in English.

Study Resource 2 as necessary.

10

11—

4

Z4vér se zdvérovou poloautomatikou
Breech with Semiautomatic Mechanism

-
.

kladka nardZky poloautomatiky

nardzka polocautomatiky
tla®nd ty<¢
gpou§t§cf pdka

ep zdvérového tdhla
zadek hlavné

zdv&rovy klin

zdvérové tdhlo s voditkem
rukoje¥t zdvErové kliky
zaviraci dstroji

vrchni vyhazovad

DOV NROULEWN

s ¢ o o o o ¢ s o @

- b
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semiautomatic mechanism stop
roller
semiautomatic mechanism stop
push rod
trigger lever
pull rod pin
breech block
breech wedge
gull rod gquide
rech handle
locking mechanism
upper ejector

You may refer to
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STUDY RESOURCE 3

Instructions: The following is a part of a continuing interroga-
tion. Read the dialog several times until you are thoroughly fa-
miliar with its content. Then listen to the dialog on the tape
while following the printed text.

1. I: Jak€ tanky pouZfvd 1. tx?

S: V&tSinou T-72.

2. I: Jak€ jiné€ tanky pouZivd 1. tr?

S: Taky Ysme méli nd8kolik T-62.

3. TI: Kolik tankf T-72 md celkem 1. tr?
S: KdyZ jsme pTekrocili hranice, ¥ekl bych, Ze jich bylo osn

Ted pFesn¥d nevim, kolik jich mdme.

4. I: Kolik tankft T-62 md celkem 1. tr?

S: P¥i vypuknuti vdlky 1. tr méla dva T-62.

5. I: DProd se stdle zmiTfujete o za€dtku vdlky?
S: K vdli ztrdtdm na osobdch a materidlu, které jsme utrpeal:
po cest®.... Soufasné€ polty nezndm.
6. I: Rozumim vdm. O tom budeme mluvit pozd&ji. A ted pokra-

Yujme. Jaky je plny vojensky ndzev tanku T-727?

S: Jenom st¥edni tank T=-72.

7. I: Jaky je plny vojensky ndzev tanku T-62?

S: Taky se mu Y{kd st¥edni tank T-62.
8. I: Jak jsou ty tanky pFidEleny rfiznym sloZkdm 1. tr?

g: pPrvnf Beta a velitelstvi roty majf po jednom T-62 a dvou
- T-72, ka¥dd zbyvajfci Teta md po t¥ech T-72.
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14.
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Jak€ jsou charakteristickd vlastnosti tanku T-62, ktery
pouZivd 1. tr?

Krom& toho, ZFe md siln¥j5{ panci¥ neZ T-55, nejvets{

zdokonalenf tanku T-62 spodivd v tom, Ze md 115 mm kandn
s hladce vrtanou hlavni, ktery st¥{lf protipancéfové pod-
kalibernf st¥elivo poédteéni rychlostf 1615 m za sekundu.

Jak velkou zdsobu paliva md T-62?

960 1 nafty s dojezdem 450 km.

PopiSte mi podvozek tanku T-62.

Podvozek (tanku T-62) md& na obou strandch pdt pojezdovych
kol a nem& vodfci kladky. Mezera mezi t¥etim a Ttvrtym

a Ttvrtym a pdtym pojezdovym kolem je vEtEL neZ mezi
prvnim, druhym a t¥etim kolem.

Jak€ nedostatky md T-62, ktery (se) pouZivd (u) 1. tr?

Po vyst¥elu vyhazova® ndbojnic mdZe zplisobit nahromad&ni
plynd v bojovém prostoru a vyhozend ndbojnice miZe zpd-
sobit zran®ni, proto¥e otvor pro vyhozeni ndbojnice je
S¥patn® se¥izen a prdzdnd ndbojnice se miZe odrazit od
jeho okraje a vlifitnout do bojového prostoru. pDals{ ne-
vyhody taky Jjsou omezend deprese kandnu a snadno spadd-
vavé pdsy.

Jak€ jsou charakteristick€ vlastnosti tanku T-72 pouZi-
vaného u prvni roty?

N8které vlastnosti jsou stejné, jako md T-62, avsak
podvozek tanku m& vatE{ litd pojezdovd kola, t¥i vodict
kladky a odpérovdan{ md torzni (zkrutné) ty%e. Z nového
vzoru kulometu, namontovaného na véZi, se nedd st¥ilet
zevnit¥ vEéZe.

Jak velkou zdsobu paliva md T-727?

1000 litrffh s dojezdem 480 km.
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20.

21.

22.
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Jak€ nedostatky md& T-72 pouZivany u 1. tr?

Jedin€ nedostatky, které mi p¥ichdzeji na mysl, jsou me-
chanického rdzu. Nap¥iklad zavedeni automatického nabi-
jeni dovolilo konstrukté€rim zmen¥it osddku tanku a taky
v8% samotnou. UZitkovy prostor ve véZi nebyl zvétSen; a
taky kdyZ se pou¥ivd tyBovd anténa, velitelsky tank se
nem8Ze pohybovat, proto¥e stoXdr antény musi byt zakotver
v zemi.

Jakou rdZi md kandn?

Kandn md rd¥i 125 mm s hladce vrtanou hlavni.

Jakou. jinou vyzbroj maji ty tanky?

Krom¥ kandnu ty tanky jsou vyzbrojeny dvéma kulomety,
jeden je spF¥a¥eny s kandnem a druhy je namontovany na vé:
tanku.

O kterych kulometech mluvite?

Mluvim o protiletadlovém kulometu rdZe 12,7 mm, namonto-

vaném na v8¥i a spFaZeném kulometu rdZe 7,62 mm, k niTen.:
Zivé sily (PKT).

A ted budeme mluvit o ka%¥dé zbrani 2zvldSE. Jaky je
plny vojensky ndzev kulometu namontovaného na v&Zi?
To nevim. Je to novy vzor, v3e co o nich vim je, Ze to

byla ndhrada za kulomety D3J.

Jakou pF¥edepsanou normu spot¥eby stF¥eliva md ten novy
vzor kulometu namontovany na VE&zi?

500 ndbojd.

Jaky je jeho maximdlni dost¥el proti vzduSnym cilfm?

NO+...to je 1000 m proti vzdu3Snym cilm a 1500 m proti
pozemnim cillm.

Jaky je maximdlnf dostF¥el PL kulometu pod dhlem 45°2?

Maximd&lni dost¥el PL kulometu pod dhlem 45° je 6500 m.
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Jaké jsou n&které charakteristické vlastnosti kandnu?

Kandn st¥fl1f protipancé¥ové podkaliberni st¥elivo, které
md poBdtedni rychlost 1750 m/sec. Typickd pYedepsand
norma spot¥eby st¥eliva by m&la 12 ndbojd protipancé¥ového
podkaliberniho (st¥eliva), 6 ndbojd pribojného (st¥eliva)
a 22 ndbojd t¥{¥tivotrhavého st¥eliva.

Jaky je maximd&ln{ dost¥el kandnu pod dhlem 45°2?

Ten je pFes 20 000 m (20 km).

Jakou rychlost st¥elby (kadenci) md ten kandn?

¥est aZ osm ran za minutu.
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PRACTICE EXERCISE 4

Instructions: Close the book, rewind the tape, and listen to

Study Resource 3 again. Based on what you hear, write an answer
in Czech for each of the following questions.

1.

10.

11.

12.

Jak€ vojenskd ozna¥eni majl tanky 1. tankoveé roty?
Kterd jind tanky pouZivala 1. tankovd rota?

Co utrp¥la 1. tankovd rota po cest¥®?

Pro¥ neznd nadrotmistr ¥imek sou¥asné polty osob a materidlu?
Kterd slo¥ky m¥ly p¥id¥leny jeden tank T-62 a dva T-727?
V Tem spo¥Ivd nejvEt3f zdokonaleni tanku T-62?

Jake€ st¥elivo pouXivd ten 115mm kandn?

Jakou po¥dte¥ni rychlost m4 to stF¥elivoz

Jak€ kulomety md st¥ednI tank T=-72?

Ktery kulomet md rdZi 12,7 mm?

K ¥emu se hlavn¥ pouZivd spFfaZeny kulomet?

Jakou kadenci (rychlost palby) mf kandn tanku T-727
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PRACTICE EXERCISE 5

Instructions: For each of the following statements, write a ques-
tion in Czech that would elicit the underlined information.

1. The 1st Tank Compény was equipped with two types of tanks.

2. There was a total of eight T-72s in the 1st Tank Company.

3. The other type of tank found in the 1st Tank Company was the
T"62.

4. The 1st Tank Company had three tanks per platoon.

5. The T=62 is equippea with a 115mm gune.

6. The T-62 has a road range of 450 km.

7. The T=62 has no track-support rollers.

8. In the T-62, an ejected cartridge case can cause injury to the
T crewve.

9. The T=72 has a road range of 480 km.

10. The T-62 and T-72 tanks have a main gun and two machinegunse.

11. The T=72 is equipped with an automatic loader.

12. The newly designed turret-mounted machineguh has a basic load of
500 rounds.
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PRACTICE EXERCISE 6

Instructions: On tape you will hear a short interrogation dialog.
The questions will be in English and the responses in Czech. Writ«
a Czech translation for each question and an English translation
for each response. Stop the tape to write each translation.

Zdakluzovd brzda - Recoil Brake

brake cylinder
brake piston rod
piston

control piston rod
control valve
filling plug

brzdovy vdlec
brzdovad pistnice
pist

regulaini pistnice
requlaéni ventil
plnici zdtka

AU WN =

Vratnikx ~ Recuperator (Return Mechanism)

external cylinder

internal cylinder

recuperator piston
rod piston

iston

nternal cylinder cap

shut off valve

wéiEi vdlec
vnit¥ni vdlec
vratnikovd pistnice

pist -
vfko‘ynigpniho vdlce
uzaviraci ventil

Ok WN -
o o @
11
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KEY TO VOCABULARY PRETEST

Bere are the translated sentences with underlined key words

phrases.

1. The pivot is broken.

2.. What is the road range-of that vehicle?

3. The entire cradle must be-replaced.

4. What is the military nomenclature of that weapon?

S« A complete receiver is part of the accessories.

6. Grease those gun rails.

7.  The adjustment took only 10 minutes.

8. Reorganization affects all elements of the ministry of
9. That gun has a manual trigger mechanism.

10. Do you see the firing ports of that fortification?

1. Describe the function of the breech lock.

12. Our position provides a field of fire toward the west.
3. What kind of bore does that gun barrel have?

14. The bolt lock is worn out.

15. That cannon has a new recoil mechanism.

16. The tank is equipped with a smoothbore barrel gun.

17. The smooth bore of the barrel gives no rotation to the

projectile.

i8. Cooling fins prevent overheating.

19. These are high-quality needle bearings.

20. Do you know how to use the collimator sight?

21. Actual firing takes place in the round chamber.

22. The ;levatinq gear has a short handle.

CWE=-1
VP Key
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defense.



23.

24.

25.

26.

27.

28.

29.

30.

31.
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The malfunction was caused by a defective bolt carrier.

Take your place in the march column!

This is the newly designed feed mechanism.

The barrel of that machinegun doesn't have a £flash suppressor

That torsion bar is loose.

These are the track-support rollers.

We ordered several return springs.

The outbreak of hostilities took place at noon.

pid you check the extractor?
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KEY TO VOCABULARY POSTTEST

Following is the translation of the vocabulary.

collimator through combat adjustment torsion bar

cooling fins road range term outbreak of
hostilities

part, component needle bearings bore return spring

extractor cradle guide pulley trigger

field of fire medium tanks flash .suppressor smooth bore

The correct selection and sequence of words with their correct
endings follows.

dojezdu sloZek hladky vyvrt
kolébce spu¥¥adlo kolimdtorovy
ndzev vyst¥el vypuknuti vdlky
se¥izeni vyvrtem Tlumi& ohn@é

Translation of the sentences.

We used the auxiliary fuel tanks to increase road range.
That gun is mounted on the cradle.
We've never heard that military term.

The trouble-free operation is the result of the weapon's
correct adjustment.

Svazarm is part of the premilitary educational system.
To fire the weapon, we had to use the manual trigger.
A firing position must provide a good field of fire.
Modern tank cannons have barrels with smooth bores.

The>barrel of the T-72 tank's cannon has a smooth bore.
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The collimator sight is used to fire at aerial targets.
Diplomats failed to prevent the outbreak of hostilities.

The flash suppressor reduces the flash of the muzzle (of the
barrel).

., o /| D

or

1
HlaveX kandnu - Gun Barrel
1. hlaveh - barrel
2. zadek hlavné - breech block
3 ejektor - bore evacuator
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" TRANSLATION OF STUDY RESOURCE 2

Equipment and Armament of Tank Units

Armament and equipment of the CPA is constantly being improved,
and, for that reason, is periodically replaced. Tank armor has
been improved, and the caliber and length of the gun barrel in-
creased to make it more effective. The rate of fire has been in-
creased by the addition of an automatic loader (autoloader). The
accuracy of fire, especially at night, has been improved through
the use of infrared instruments (infrared sights).

The medium tank is armed with a stabilized tank gun. The T-55
has a 100mm gun, the T=62 a 115mm, and the T=-72 a 125mm gun. In
the turret with the gun is a coaxial 7.62mm tank machinegun. For
air defense the tank has a 12.7mm antiaircraft machinegun, mounted
on the turret.

The tank gun is used primarily for direct fire. It is designed
for the destruction of ground targets as follows:

- tanks, self-propelled guns, armored vehicles and trans-
porters, firing ports of fortifications, and armored cupolas;

~ all types of guns and their crews;
- enemy weapons and personnel;

- enemy command and observation posts, and command and control
elements;

- artillery and mortar batteries, march columns, troops in as-
sembly areas and so onj

- light defensive structures;
- transportation and communications equipment.

The gun consists of the barrel, breechblock, semiautomatic
breech, gun cradle, recoil mechanism, elevating mechanism, equili-
brator (counter balance), and a protective cover with a trigger
mechanisme.

The barrel gives the round its muzzle velocity, direction of
flight and, in the case of a rifled barrel, its rotation. The
barrel has a bore evacuator attached, which removes gases from the
bore of the barrel after firing and ensures the cleanliness of the
air in the crew compartment (literally: fighting area). Some guns
also have muzzle brakes, which help reduce recoil.
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The semiautomatic breech is wedge~shaped. The breech moves
horizontally, sealing the bore of the barrel before and during
firing. After firing, it ejects the spent cartridge cases.

The semiautomatic breech automatically opens after firing for
ejection of the casing, and closes after insertion of the round
into the chambere.

The cradle trunnions keep ' the gun barrel aligned during recoi:
and recovery of the barrel. The gun cradle is connected to the
elevating gear for setting the elevation.

The recoil mechanism brakes the recoil of the barrel and re-
turns it to its original position. It consists of a hydraulic
recoil brake and a pneumatic-hydraulic return mechanisme.

The elevating mechanism sets elevation or depression. The
protective cover protects the tank crew from the impact of the rea:
of the gun barrel during firing (during its recolil and recovery).
It has two parts, one fixed and one folding. The folding part has
an upper position used during firing, and a low march position use
during non-tactical movement.

The trigger mechanism is activated by depressing either the
manual trigger on the control column or the electric trigger lo-
cated on the elevating gear handle.

The cradle trunnions lay the gun in the turret of the tank.

7.62 Tank Machinegun

The coaxial machinegun is mounted in the tank parallel with
the main gun. The sights of the coaxial machinegun are a componen
of the main gunsight. The machinegun consists of the barrel, the
receiver with barrel lock, the breech with feeding mechanism, a
trigger assembly with a return spring, and the charging handle and
railse.

The barrel is replaceable. The bore of the barrel has four
lands and grooves. A conical flash suppressor is screwed on to
the muzzle. The surface of the barrel has cooling fins.

The main parts of the machinegun are connected to the receiv
to form one unit. It consists of the following parts: the receiver
with front and rear catches, gas cylinder, and feed block.

The barrel lock connects the barrel with the receiver and al-
lows the adjustment of head space between the bolt and rear of the
barrel.
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The bolt carrier group has a piston with bolt carrier and bolt.
The piston with the bolt carrier activates the moving parts of the
machinegun, that is: the bolt, cartridge extractor, and feeder.
The bolt inserts the cartridge into the chamber, locks it, and the
firing pin ignites the round. After firing, it extracts the casings
from the chamber, and the ejector ejects it. The feedarm places
the round in front of the chamber. The feed mechanism advances the
cartridge belt into the feed ammunition porte.

The trigger mechanism is composed of the lock with electromag-
netic trigger and manual trigger. The lock locks the rear part of
the receiver. The actual trigger is located in the receiver. 1In
case of stoppage of the electromagnetic part, it is possible to
fire manually. The return spring returns the bolt into the forward
position, and that gives the firing pin the necessary energy to
strike the primer. The trigger holds the bolt carrier in the rear
position or releases it.

The cocking handle allows the bolt to be manually cocked. By
pulling, the handle also takes the bolt carrier with it.

There are front and rear rails. They connect the machinegun
to the gun mount. There is a buffer located in the front rails;
during firing it eliminates machinegun recoil.

12.7 Antiaircraft Machinegun

The AA-machinegun is composed of the barrel, receiver, bolt
receiver closure with trigger, feeder, and sights.

The barrel has a bore with right twists and eight lands and
groovese. There is a muzzle brake on the front, a front sight, and
a gas regulator.

In the upper part, the receiver has a provision for affixing a
sight, and on the front part, there are two pivots for affixing the
machinegun to the cradle of the mount.

The sights of the AA-machinegun are composed of frame—-type
sights for firing at ground targets, and collimator sights for
firing at aerial targets. '

There is a permanent mount on the tank for the AA-machinegun,
which makes possible circular fire from -4° to0 85°., The mount can
be secured in three positions: combat, combat march, and march.

On the left side of the mount, there is a bracket holding an am-~
munition belt box.

In addition, there is a bag for accessories. Accessories are:
tools, cleaning agents, and a complete bolt assembly.
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KEY TO PRACTICE EXERCISE 1

Here are the sentences you heard on the tape in Czech and the
correct translations.

V¥stroj a vyzbroj tankovych jednotek V¥SLA se stdle zdokonaluje

c. The armament and equipment of the CPA is constantly being
improved.

St¥edni tank je vyzbrojen stabilizovanym kxandnem a sp¥aZenym

kulometem.

a. The medium tank is armed with a stabilized tank gun and
coaxial machinegun.

Tankovy kandn se pouZivd pFevdZnié pro p¥imou st¥elbu.

¢. The tank gun is used primarily in the direct fire role.

HlaveX kandnu d&v{ stF¥ele poédte¥n{ rychlost, smér letu a u

drdZkované hlavn® taky rotaci.

b. The gun barrel gives the round its muzzle velocity,
direction of flight and, with a rifled barrel, also its
rotation.

NEkteré xandny maji ds¥Tovou brzdu kterd zmenSuje zdkluz hlavnZ

4. Some guns have a muzzle brake, which reduces recoil.

Brzdovratné za¥fzeni brzdf zdkluz hlavnd a vraci ji do pdvodn:

polohy.

Ce The recoil mechanism brakes the recoil of the barrel and
returns it to the original position.

Brzdovratné za¥izeni se sklddd z kapalinové brzdy a vzducho-

kapalinového vratniku.

Ce The recoil mechanism consists of a hydraulic brake and a
pneumatic-hydraulic return mechanism.
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8. Spou¥t¥ci ustrojf se uvddf v ¥Tinnost bud stlaZenim péky ru¥niho
spu¥¥adla nebo spou¥t¥ci pdky elektrického spu¥tadla.

d. The trigger mechanism is activated either by depressing
the manual trigger or the electric trigger.

9. SpF¥a¥eny kulomet ve vEZi tanku m& vym¥nitelnou hlavel.

c. The coaxial machinegun in the turret of the tank has a
replaceable barrel.
10. Na povrchu hlavn¥ jsou chladici ¥ebra.

b. There are cooling fins on the surface of the barrel.

11. 2Z4vEr kulometu m& pist s nosifem zdvorniku a zdvornik.
a. The bolt carrier group of the machinegun has a piston
with bolt carrier and bolt.
12. Podava¥® poddvd ndboje p¥ed ndbojni komoru.

b. The feedarm places rounds in front of the chamber.
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KEY TO PRACTICE-EXERCISE 2

Here are the translations of the English statements, acceptable
Czech questions, and their translations.

1.

D€lka hlavn¥ a rdZe tankového kandnu se zvEtSila, aby byl
Y€inndjsi.

Pro¥ se zvit¥ila dflka hlavn¥ a rdZe tankového kandnu?

Why was the length of the barrel and caliber of the tank's
main gun increased?

S kandnem sp¥a¥eny kulomet md rdZi 7,62 mm.

Jakou rd¥i md& s kandnem sp¥aZeny kulomet?

What is the caliber of the tank machinegun coaxial with the
main gun?

Na v&Zi upevn&ny 12,7 mm kulomet slou¥f k protivzduSné obran
tanku.

K Bemu slou¥i na v8¥i upevniny 12,7 mm kulomet?

4

What purpose does the turret-mounted 12.7mm machinegun serve

Drd¥kovand hlaveX kandnu ddvd stF¥ele rotaci.
Co d4{v4 st¥ele drdZkovand hlaveif?

What does the gun's rifled barrel give to the round?

Klfnovy zdvEr po vyst¥elu vyhazuje vyst¥elené€ ndbojnice.
Co d¥l4 klfnovy zdvEr po vystFelu?

What does the wedge-shaped breech do after firing?

NdmErové ¥rfdidlo slouZi k nastaveni elevace a deprese.
X Femu slouZi ndmdrové ¥ididlo?

What does the elevating mechanism set?
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Ochranny kryt chrdni osddku p¥ed ndrazy hlavng€ pfi zdkluzu a
p¥edkluzu.

P¥ed ¥im chrdni osddku ochranny kryt?

From what does the protective cover protect the gun crew?

Kolébkové Bepy slouZi k uloZeni kandnu ve véZi tanku.
Co slou¥f k ulo¥eni kandnu ve vE8Zi tanku?

What aligns the gun in the turret of the tank?

vVy¥vrt hlavn® spfaZeného kulometu md Tty¥i pole a Ety¥i drdZky.
Kolik polf a kolik drdZek md vyvrt hlavn@ sp¥aZendho kulometu?
How many lands and grooves does the coaxial machinegun's
barrel have?

Pouzdro zdvEru spojuje hlavni Tdsti kulometu v jeden celek.

Co spojuje hlavni Tdsti kulometu v jeden celek?

Wwhat connects the main parts of the machinegun into one unit?

Pfst s nosiBem zdvorniku uvddf do pohybu pohyblivé Tdsti

kulometu.

Kterd Tdsti kulometu uvddi do pohybu pist s no;iEem zdvorniku?
Which parts of the machinegun does the éiston with the bolt
carrier activate?

Napinaci tdhlo kulometu slouZi k rudnimu napindnfi zdveéru.

K Temu slouZi napinaci tdhlo?

For what is the machinegun's cocking handle used?

!
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KEY TO PRACTICE EXERCISE 3

Here are the gquestions you heard on the tape in Czech, their Englis
translations, and acceptable English answers.

1. Co zvy¥uje rychlost st¥elby tankového kandnu?

What increases the rate of fire of the tank's gun?

The automatic loader.

2. Co v noci zlepSuje pF¥esnost st¥elby z tanku?
What improves the accuracy of fire from the tank at night?

Infrared instruments (infrared sights).

3. K Temu je urfen tankovy kandn?
For what is the tank's main gun designed?

For the destruction of ground targets.

4, Co ddvd stfele rotaci?
What gives the round its rotation?

The rifled barrel.

5. Co vede hlavel p¥i zdkluzu a pF¥edkluzu?
What keeps the gun barrel aligned during recoil?

The gun cradle trunnions.

6. 2 Teho se skldd4{ brzdovratné za¥izeni?

What does the recoil mechanism consist of?

A hydraulic recoil brake and a pneumatic-hydraulic return
mechanism.
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Kter€ polohy md sklopnd ¥4st ochranndho krytu?

Which positions does the folding part of the protective cover
have?

An upper position used during firing and a lower march posi-
tion used during non-tactical movement. :
Kterd zbra¥ je namontovand rovnob¥¥n¥ s kandnem ve vEZi tanku?

Which weapon is mounted parallel with the main gun in the
tank's turret?

The coaxial machinegun.

o

Co je na¥roubovdno na usti hlavn¥ spF¥aZeného kulometu?

What is screwed onto the coaxial machinegun's muzzle?

" A conical flash suppressor.

Kterd sou¥dstka spojuje hlavell s pouzdrem zdvEru?
Which part connects the barrel with the receiver?

The barrel locke.

Do ¥eho zasouvd zdvornfk ndboje?

Into what does the bolt insert the cartridge?

The chamber.

Jaky v¥st¥el md protiletadlovy kulomet namontovany na v&Zi
tanku?

What field of fire does the antiaircraft machinequn mounted
on the tank turret have?

A circular field of fire from - 4° to 85°.
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TRANSLATION OF STUDY RESOURCE 3

What tanks are employed by the 1st Tank Company?

Mostly T-72s.

Wwhat other tanks are employed by the 1st Tank Company?
We also had a few T-62s.

What is the total number of T-72s within the 1st Tank
Company?

I would say we had eight T-72s at the time we crossed
the border. Right now, I don't know how many we have.
what is the total number of T=-62s within the 1st Tank
Company?

At the outbreak of hostilities, there were two T=-62s in
the 1st Tank Company.

Why do you keep referring to the beginning?

Because of losses of personnel and equipment sustained
along the waye.s... T don't know the current totals.

T see...we'll talk about that later. Now let's continue.

What is the full military nomenclature of the T-72 tank?

Just T-72 medium tank.

What is the full military nomenclature of the T-62 tank?
It is also referred to as a T-62 medium tank.

In what number are the tanks distributed among the vari-
ous elements within the 1st Tank Company?

The 1st Platoon and the company headquarters each had one

T-62 and two T-72s, the other platoons had three T-72s
eache.
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What are the characteristics of the T-62s used by the 1st
Tank Company?

Besides greater armor than the T-55, the T-62s' most sig-
nificant improvement over the older tanks is the 115mm
smoothbore main gun which fires a hypervelocity, armor-
piercing fin-stabilized discarding-sabot (HVAPFSDS)

round with a muzzle velocity of 1615 m per second .

What is the fuel capacity of T-62s?

Nine hundred sixty liters of diesel, with a range of
450 kme.

Describe the suspension system of the T-62.

The suspension system of the T-62 consists of five road
wheels on each side with no track support rollers. The
space between the third and fourth and the fourth and
fifth road wheels is larger than between the first, second
and third road wheels.

Wwhat are the limitations of the T=-62 medium tanks in the
1st Tank Company?

The spent cartridge ejection system can cause a dangerous
accumulation of carbon monoxide, and possibly., actual
physical injury to the crew from cartridge cases ejected
against the edge of a poorly aligned ejection port and
rebounding into the crew compartment. Also, the limited
depression of the main gun and the tendency to shed tracks
plague that vehicle.

What are the characteristics of the T-72s in the 1st
Tank Company? '

Some of characteristics are the same as the T-62s;
however, the die-cast road wheels are larger and the tor-
sion bar-type suspension has three track-return rollers.
There are no provisions for firing the machinegun from
within the tank.

What is the fuel capacity of a T=722?

It's 1,000 liters, with a road range of 480 km.

N
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What are the limitations of the T-72s in the 1st Tank
Company?

The only limitations that I can think of are of a mechan-
jcal nature; for example, the use of an automatic loader
allowed the designers to reduce not only the number of
crewmen , but also the size of the turret. The space
available in the turret was not increased. Also, when
using the mast antenna, the commander's tank is immobile
since the mast must be anchored into the ground.

What is the bore size of the main gun?

The main gun is a smoothbore 125mm cannon.

What other armament is organic to the tanks?

Besides the main gun, the tanks are equipped with two ma-
chineguns; one cocaxial with the main gun, the other one
mounted on the turret.

What types of machineguns are you talking about?

I was referring to the 12.7mm turret-mounted AA-machinegu:

and the 7.62mm coaxial machinegune.

Now, let's a talk about each weapon individually. What
ig the full military nomenclature of the turret-mounted
AA-machinegun?

I don't know...it's a new design; all I know about them
is that they were replacements for the D¥=Dektjarev/Spagil
(DBKs) .

What is basic load of the newly designed turret-mounted
AA-machinegun?

Five hundred rounds.
What is its maximum effective range against aerial target

It is 1,000 m against aerial targets and about 1,500 m
against ground targets.
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What is the maximum range of an AA-machinegun at 45°?

At 45°, the range of an AA-machinegun is 6,500 m.

What are some of the characteristics of the main gun?

The main gun fires a hypervelocity armor-piercing, fin-
stabilized discarding-sabot (HVAPFSDS) round that has a
muzzle velocity of 1,750 m. The basic load would typi-~
cally include 12 HVAPFSDS rounds, six HEAT-FS rounds, and
22 HE-FRAC rounds.

What is the maximum range of the main gun at 45°?

It's over 20,0?0 Mme

What is the rate of fire of the main gun?

Six to eight rounds per minute.
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KEY TO PRACTICE EXERCISE 4

Here are the Czech questions and acceptable Czech answers. Englis
translations are provided for your convenience.

Jak€ vojensk€ oznadeni maji tanky 1. tankové roty?

Wwhat is the military nomenclature of the 18t Tank Company's
tanks?

st¥edni tanky T-72 a T=-62.

The T-72 and T-62 medium tanks.

-

Kter€ jiné tanky je¥tE® pouZivala 1. tr?
What other tanks were used by the 1st Tank Company?
‘Zfdne‘ jiné.

No others.

Jak€ ztrdty utrp&la 1. tankovd rota po cest®?
What losses did the 1st Tank Company sustain along the way?
Ztrdty na lidech a materidlu.

Losses in personnel and equipment.

Pro¥ neznd nadrotmistr ¥Yimek souTasné polty osob a materidlu

Why doesn't MSG ¥imek know the current totals of personnel a
material?

Kvdli t8m ztrdtdm, kterd utrpéli po cestE.

Because of losses suffered along the way.

Kter€ slo¥ky m3ly pFiddleny jeden tank T-62 a dva T=-727
Which elements were assigned one T-62 and two T-72s?
Prvni Teta a velitelstvi roty.

The 13t Platoon and the company headgquarters.
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V Tem spofivd nejvEt3{ zdokonaleni tanku T-627?
What is the most significant improvement of the T-627
V tom, e m& 115 mm kandn s hladce vrtanou hlavni.

That it has the 115mm cannon with a smoothbore barrel.

'Jak€ st¥elivo pouZivd ten 115 mm kandn?

Which type of ammunition does thé 115mm gun use?
Protipancé¥ové podkaliberni st¥elivo.

A hypervelocity armor-piercing fin-stabilized discarding
sabot (HVAPFSDS).

Jakou poddtedni rychlost md to st¥elivo?

What is the muzzle velocity of that ammunition?

1615 metrfl za sekundu (vte¥inu).

1,615 m per second.

Ktery kulomet md rdZi 12,7 mm?
Which machinegun is 12.7mm?
Protiletadlovy kulomet (namontovany na v&Zi).

The AA-machinegun (turret mounted).

Jak& st¥elivo pouZivd kandn tanku T=727?

What type of ammunition does the main gun of the T=-72 fire?

-

Protipancé¥oveé podkaliberni stFfelivo, které md pofdte?ni
rychlost 1750 m/sec.

A hypervelocity armor-piercing fin-stabilized discarding
sabot (HVAPFSDS) round that has a muzzle velocity of 1,750 m
per second.
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12. Jakou kadenci (rychlost palby) md kandn tanku T-72?
What is the rate of fire of the T-72's main gun?

¥est a¥Z osm ran za minutu.

Six to eight rounds per minute.

—

Ochranny kryt ~ Protective Cover

folding part

pin (pivot)
fixed part
recoil indicator

sklopnd Tdst

Tep

pevnd Tdst
zdkluzovy ukazatel

BwWwN
. L] L] L]

48



CWE-1
PES Key

KEY TO PRACTICE EXERCISE 5

Below are acceptable questions. English translations are provided
for your reference.

XKolik typd tankd pouZivala 1. tr?

How many types of tanks did the 1st Tank Company employ?

Kolik tankf typu T-72 m&la celkem 1. tr?

How many T-72s did the 1st Tank Company‘have?

Ktery tank m&la 1. tr. krom& typu T-72?

Besides the T-72, what other kind did the 1st Tank Company
have?

Kolik tankf mZla kaZdd Teta 1. tr?

How many tanks did each platoon in the 1st Tank Company have?

Jakou rdzi md kandn tanku T-622

Wwhat is the caliber of the T-62's main gun?

Jaky dojezd md tank T-627

Wwhat is the road range of the T-62 tank?

Ktery tank nemd vodici kladky?

Which tank does not have track return-rollers?

Co mdZe zpdsobit zran&ni osddce tanku T-627?

In the T-62, what can cause injury to the crew?

Jaky¥ dojezd md tank T-727?

What is the road range of the T-72?
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Jakou vyzbroj maji tanky T-62 a T-722

What armament do the T-62s and T-72s have?

Ktery st¥edni tank md automatick€ nabfjeni?

Which medium tank is equipped with an automatic loader?

Jak velkou {Jakou) normu spot¥eby munice md novy vzor kulo-
metu namontovaného na v&Zi?

What is the basic load of the new type of machinegun mounted
on the turret?
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KEY TO PRACTICE EXERCISE 6

Here are acceptable translations for the gquestions and answers you
heard on the tape.

What is the total number of T-62s within the 1st Tank
Company?

Kolik tankd T=62 md celkem 1. tankovd rota?

V df@sledku ztrdt na lidech a materidlu, utrp&nych b&hem
cesty, soudasny celkovy stav nezndm, ale pTed p¥ekrofenim
hranic jsme m&li dva (tanky T-=62). -

Because of the losses of personnel and equipment sustained

along the way, I don't know the current totals; however,
there were two T=-62s prior to the border crossing.

I understand...later on we'll talk about the losses. Now
let's continue. What is the full military nomenclature of
the T=72 tank?

Rozumim...pozd¥ji si promluvime o ztrdtdch. Ted viak
pokraBujme. Jake€ dplné€ vojenske oznaeni md tank T-72?

Jenom st¥edni tank T-72.

Just T=72 medium tank.

In what number are the tanks distributed to the various
elements within the 1st Tank Company?

Kolik tank@ je pFidEleno sloZkdm 1. tankoveé roty?

1. Beta a velitelstvi roty maji po jednom T-62 a dvou T-72,
ostatni tankové Tety maji po tF¥ech T-72.

The 1st Platoon and the company headgquarters each have one

T-62 and two T=72s, the other tank platoons have three
T-72s each.
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What are the characteristics of the T-62s used by the 1st
Tank Company?

Jake€ takticko-technické ddaje maji tanky T-62 pouZivané
1. tankovou rotou (u 1. tankové roty)?

Jednfm z nejvyznamnEj¥ich zlepSeni oproti starSim tankim
je 115 mm kandn s hladce vrtanou hlavni. T-62 md taky
nové automatickd za¥fzeni na odhoz ndbojnic, které€ vyuZiv
zp&tného rdzu a odhazuje spot¥ebované ndbojnice otvorem v
zadni Tdsti vEZe.

One of the most significant improvements over the older
tanks is the 115mm smoothbore main gun. The T=-62 also
has a new automatic shell ejector system, which is acti-
vated by the recoil of the main gun and ejects spent
casings through a port in the rear of the turret.

What is the fuel capacity of a T-627?

Jak velkou zdsobu paliva md& tank T=627?

960 litrd nafty, s dojezdem 450 km.

Nine hundred sixty liters of diesel, with a range of

450 km.

Describe the suspension system of the T=-62.

PopiSte mi podvozek tanku T=-62.

Podvozek tanku T~62 md na obou strandch pdt pojezdovych
Xol a nemd vodici kladky. Mezera mezi tTetim a Etvrtym,
a ¥tvrtym a pdtym pojezdovym kolem je vEt3{ neZ mezi prv-
nim, druhym a t¥etim kolem.

The suspension system of the T-62 consists of five road
wheels per side, with no track=-return rollers.

The space between the third and fourth and the fourth anc

fif+th road wheels is larger than between the first, secor
and third road wheels.
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What are the limitations of the T-62 medium tanks in the
1st Tank Company?

Jaké nedostatky maji st¥edni tanky T-62 u 1. tankové roty?

Systé€m odhozu spot¥ebovanych ndbojnic miZe zpﬁsoblt ne-
bezpedné nahromad®ni kysli¥nfku uhelnatého a moZné zrané&ni
osidky nabo;nlceml, pokud p¥i odhozu v disledku Epatného
se¥fzeni narazi na hranu odhazovacifho otvoru a odrazi se
zp&t do bojového prostoru (osddky). DalEf nevyhody jsou
omezend deprese kandnu a snadno spaddvavé pdsy.

The spent cartridge ejection system can cause dangerous
accumulations of carbon monoxide, and possibly, actual
physical injury to the crew from cartridge cases ejected
against the edge of a poorly aligned ejection port and
rebounding into the crew compartment. Further disadvan-
tages are the limited depression of the main gun and the
tendency to shed tracks.

What are the characteristics of the T-72s in the 1st Tank
Company?

Jak€ takticko-technické ddaje maji tanky T-72 1. tankové
roty?

NE€kter€ ddaje jsou shodné s tanky T-62, T=-72 vSak m4d Best
velkych lit¥ch pojezdovych kol s gumovym obloZenim a t¥i
opérnéd kladky. 0todn® ulo¥eny protiletadlovy kulomet riaze
12,7 mm neumoZfiuje st¥elbu z vnit¥niho (bojového) prostoru
tanku.

Some of the characteristics are the same as the T-62s;
however, the T-72 has six large, die-cast, rubber-coated
road wheels and three track-return rollers. The 12.7mm
antiaircraft machinegun has a rotating mount, and there is
no provision for firing it from within the tank.

What is the fuel capacity of a T-727?

Jakou zdsobu paliva md T-72?

1000 litr8, s dojezdem 480 km na komunikacich.

It's 1,000 liters with a road range of 480 km.
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10. I: Why do yoﬁ say road range?
Pro¥ ¥ikdte "s dojezdem na komunikacich"?
S: To je jednoduché, protoZe dojezd zdvisi na terénu.

Jinak ¥eBeno, dojezd v terénu se 1iS{ od dojezdu na
komunikacich.

Simply because the range varies according to the terrair
In other words, the cross-country range is different tha
the road range.

Pouzdro zdveru - Receiver

housing

front catch

rear catch

piston tube

feeder case mount
sight mount

barrel locking pin
ammunition belt port
casing extraction port

pouzdro

pFredni zdchyt

zadni zdchyt

pistovd trubice

zdkladna pouzdra podavaCe
zdkladna hledf

omezny kolik hlaviiové spoiky
otvor pro ndbojovy pds
vy¥hozné okénko

WONOYUNTWN =
e 6 6 6 0 ¢ 0 & o
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SELF—EVALUATION TEST

PART 1 -

Instructions: Complete the sentences below by selecting the word/
phrase that will make the sentence meaningful and grammatically
correct. List your selection on a separate piece of paper.

1. Vyzbroj a vystroj tankovych jednotek TUSLA se stdle
a z toho dfivodu .

a. spravuje ... napravuje
b. opravuje ... zesiluje
Ce zdokonaluje ... nahrazuje
d. zdokonaluje ... vyhrazuje

2. Tankovy kandn st¥ili p¥evdZné .

a. nep¥imou st¥elbou

b. p¥imou st¥elbou

c. rychlou st¥elbou

d. podkaliberni stF¥elou

3. Tankovy kandn je urfen k nideni pozemnich cild jako jsou
a jejich obsluhy.

a. d8la vSeho druhu
b. déld vSechny druhy
c. déla men3Siho druhu
d. jenom houfnice

4, HlaveX kandnu ddvd stTele .

a. smérny let
b. sm@s plyni
c. smér letu

d. smé@r letky

5. NZkteré kandny majf ds¥ovou brzdu, kterd slouZi ke
hlavn‘éo

a. sniZeni pFedkluzu
b. zvétSeni pFedkluzu
c. zvétSeni zdkluzu
d. zmenSeni zdkluzu
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6. Ve vEZi tanku je s kandnem kulomet.

a. nataZeny.
b. vyloZeny
c. rozloZeny
d. spF¥aZeny

7. Mi¥idla sp¥a¥endho kulometu jsou souTdsti .

a. tankového zamEFovale
b. tankového vytahovaZe
c. tlakového zamZFovale
d. takového podavat@e

8. Pouzdro zdvEru kulometu v jeden celek.

a. spravuje hlavn¥ Tdsti
b. spojuje hlavni Tdsti
c. zpeviuje hlaveX a Tdsti
d. zplo¥¥uje hlavell a Tdsti

9. Pist s nosifem z£vorniku uvddi do kulometu.

a. pochodu pochodové Edsti

b. chodu pochodové Tdsti

c. pohybu pohyblivd soutdsti

d. pohybu nepohyblivé souTdsti-

10. X protivzdu¥né obran¥ md tank .

a. ve v&%i spF¥aZeny kulomet
b. ve vEZi uloZeny kulomet

¢. na vEZi spFaZeny kulomet
d. na vE&Zi upevn¥ny kulomet
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KEY TO SELF-EVALUATION TEST

PART 1

Following are the correct selections:

1« ¢; 2. b; 3. a; 4. c; 5. 4d; 6. 4; 7. a; 8. b; 9. c;
10. 4,

Here are the translations of the partial sentences, correct choices,

and distractors.

1. Armament and equipment of the CPA is constantly being
and for that reason .

a. managed, .. corrected
b. repaired, ... reinforced
¢c. improved, ... replaced
d. improved, se. discarded

2. The tank's main gun is primarily used for .

a. indirect fire

be. direct fire

Coe quick fire

4d. subcaliber rounds

3. The tank's main gun is designed for destruction of ground
targets such as and their crews.

ae all types of guns

b. it makes all the types
Ce lesser type guns

d. only howitzers

4., The gun's barrel gives the round its .

a. gquiding flight

be. mixture of gases

Ce direction of f£light

d. direction of a sguadron
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Se Some guns have -muzzle brakes, which help of the
barrel.

a. decrease forward movement (recoil)
b. increase forward movement

C. increase recoil

d. reduce recoil

6. In addition to the main gun, there is also a
machinegun in the turret.

ae cocked

b. displayed

C. disassembled
4. coaxial

-

7. The sights of the coaxial machinegun are components of .

a. the main gunsight

b. the main gun extractor
Coe the pressure sight

d. such a feeder

8. The receiver of the machinegun to form one unit.

a. mainly manages parts

b. connects the main parts

c. reinforces the barrel and parts
d. flattens the barrel and parts

9. The piston with bolt carrier sets into of the
machinegun.

a. march the marching parts

b. movement the marching parts
c. motion the moving parts

d. motion the fixed parts

10. For air defense, the tank has .
a. a coaxial machinegun in the turret
-be. a machinequn stored in the turret
Ce a coaxial machinegun mounted on the turret
d. a machinegun mounted on the turret
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SELF—EVALUATION TEST

Part 2

On tape you will hear a short interrogation dialog.
Write a

Instructions:

Questions will be in English and the responses in Czech.
Czech translation of each question and an English translation of

each response.
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KEY TO SELF-EVALUATION TEST
P

ART 2

Here are acceptable translations for the questions and responses
heard on the tape.

Describe the characteristics of a T-72 tank.

Uvedte takticko-technick€ ddaje tanku T=72.

T-72 je pohybliv¥j¥{ ne¥ T-62, Tdste¥n® difky vykonn¥j¥imu
motoru. Ten motor té€mE¥ vibec nekou¥i a p¥{li¥nd vibrace
kterd zpf@sobovala ¥navu osddek tankd T-62, byla odstranir
The T-72 has greater mobility than the T-62, partly be-
cause of the greater output of its engine. This engine
is almost smoke-free, and the excessive vibration that
caused crew fatigue in the T-62 was eliminated.

What is the output of the T-72?

Jaky vy¥kon m& motor tanku T-727

780 konf (kolskych sil).

Seven hundred eighty hp.

What are some of the other capabilities of the T-72 tank!
Kterd jsou dal¥{ takticko-technické& ddaje tanku T-727

M stejnou schopnost vytvd¥et kouF¥ovou clonu zabudovanym
za¥ifzenim jako star¥i tanky T-54/55/62. T-72 m& lep3i p:
c€fovou ochranu ne¥ T-62, dfky pou¥iti vrstveného pancIiF:
It also has the same integral smoke-generating capabilit:

as older T-54/55/62 tanks. The T-72 has better armor pr«
tection than the T=-62, due to the use of layered armor.
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What comprises the armament of a T=-72 tank?
Co tvo¥f vy¥zbroj tanku T=72?

Tanky T=72 jsou vyzbrojenyA125 mm kandnem s hladce vrtanou
hlavnf. Ddle majf dva kulomety; jeden je namontovdn na
velitelsk€ stran® vEZe a druhy je sp¥aZeny s kandnem.

The T-72 is equipped with a 125mm smoothbore main gun.
Further, it has two machineguns; one mounted on the com-
mander's side of the turret, the other coaxial with  the
main guns

What are the characteristics of the main gun?
Jak€ takticko-technické€ dWdaje md tankovy kandn?

Jak u¥ jsem ¥ekl, je to 125 mm kandn s hladkou hlavni.
M8Ze vyst¥elit 6-8 ran za minutu. Xandén miZe pouZivat
r8zné€ druhy munice vZetn® t¥iStivotrhavé, prfibojné (proti-
tankove) a podkaliberni.

As I said, it's a 125mm smoothbore gun. It's capable of
firing six to eight rounds per minute. This gun can fire
various types of ammunition including HE-FRAG (FS),
HEAT-FS, and HVAPFSDS.

Describe the machineguns that comprise the secondary arma-
ment of a T=72.

Popi¥te kulomety, které tvo¥i dodateénou vyzbroj tanku
T-720

Jak jsem Tekl, jsou tam dva kulomety. Jeden je namontovdn
na velitelskd strang véZe, md rdzZi 12,7 mm a pouzZivd se
pFevdZnd proti vzdudnym cildm. Druhy, spf¥aZeny s kandnem,
je rdZe 7,62 mm.

As I said, there are two machineguns. The one mounted on
the commander's side of the turret is a 12.7mm machinegun
used primarily against aerial targets; the other, coaxial
with the main gun, is a 7.62mm machinegun.
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What is the full military nomenclature of the turret-
mounted AA-machinegun?

Jaké€ je (Wplné) vojensk€ oznafeni protiletadlového kulo-
metu namontovaného na VvEZi?

To nevim...je to novy typ. Jd jenom vim, Ze je to ndhra
za D¥K. (D¥=Dektjarev Bpagin)

I dont know...it's a new design; all I know is they were
replacements for the D3Ks.
what is the basic load of the newly designed turret-moun

AA-machinegun?

Jakou pF¥edepsanou normu st¥eliva md ten protiletadlovy
kulomet nové konstrukce namontovany na V8Zi?

500 ndbojd.

Five hundred rounds.

What is the maximum effective range in the antiaircraft
role?

Jaky déinny dost¥el md ten protiletadlovy kulomet nové
konstrukce?

1000 m proti vzdu¥nym a asi 1500 m proti pozemnim cil@m.
1,000 m against aerial targets and about 1,500 m against
ground targets.

What is the maximum range of the AA-machinegun at 45°7?

Jaky maximd&ln{ dost¥el md protiletadlovy kulomet pod
dhlem 45°7?

Pod dhlem 45° md protiletadlovy kulomet dostY¥el 6500 m.

At 45°, the range of the AA-machinegun is 6,500 m.
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ENRICHMENT SUPPLEMENT

This supplement contains information about the Soviet 85mm
auxiliary~-propelled antitank gun consisting of a two-cylinder
gasoline engine, which makes changing of firing positions easy and
fast. . ' " :

The Enrichment Supplement also provides you with additional
vocabulary and experience in translating Czech. A short practice
exercise further tests your knowledge of Czech vocabulary and
grammars.

63



CWE-

ENRICHMENT SUPPLEMENT

Protitankovy kandn s pomocnym motorem

Kandn je druh d¥la urfeny k pln&ni bojovych dkold zejména p¥i
mou st¥elbou, kdy je jeho palebny ufinek nejefektivn¥IjSi a zniTen
cfle se dosahuje minimdlni spot¥ebou st¥eliva.

Jednou 2z charakteristik kandnu je plochd drdha st¥ely. Metnd
ddlka, tj. ddlka st¥elby, p¥i které vySka vrcholu drdhy st¥ely ne
pFevyZuje vyZku cile, je zdvisld na poldtelni rychlosti st¥ely.
Tim je drdha plo¥¥i a cil vyESi, tim je vEtZ{ i metnd ddlka.

Poddte¥ni rychlost st¥ely je dileZitd hlavn® p¥i ni€eni obr-
n¥nych c¢ci14, kdy je k prora¥eni pancife pot¥ebnd vysokd dopadovd
(kinetickd) energie. Pr8bojnost st¥ely je urend nejen dopadovou
(kinetickou) energii, ale taky tvarem hlavové ETdsti st¥ely, pevno
sti materidlu st¥ely, pevnosti panci¥e a dhlem ndrazu (dopadu) na
panci¥.

Pofdtedni rychlost lze zvySit dvéma zpdsoby - bud zvySenim tl
ku prachovych plynfi na st¥elu nebo prodlouZenim doby, po kterou
plyny na st¥elu pflsobi. V prvnim p¥ipad® stali zvEtZit prachovou
ndpl¥ ndboje, ve druhém se prodlou¥i hlavel kandnu. Tim vEtST
ndpl¥, tim vEt¥{ tlak plynd na st¥elu a ETim del¥i hlaved, tim del
doba tlaku plynde.

Sov&tsky 85 mm kandn charakterizuje tento typ techniky. Je
urfen k doprovodu zejména motostFeleckych jednotek. PouZivd se
hlavn¥ pro boj s tanky, BVP, OT a dalSimi obrnZ¥nymi prost¥edky, k
bo¥eni drdtZnych a kfllovych zdtarasd, lehkych krytd a ke st¥elb®
do prdzord trvalych obrannych staveb.

Celkovd dflka kandnu je 8,5 m, hlavell je 6,3 m dlouhd. Metnd
ddlka je skoro 1 km, pFesn® 950 m. Kandn je taZen dE€lostFfeleckym
taha®em s maximdlni rychlosti 60 km za hodinu. Na taha®i se pF¥e-
pravuje taky obsluha, st¥elivo a dalSi potY¥ebny materidl.

V bojovych podminkdch se kandn pFemis¥uje pomoci dvouvdlcovéh
motocyklového motoru, instalovaného na levém lafetovém rameni v<Ce
pFevodového dstroji a brzdy. PY¥i pFesunu sedf ¥idiT na sedaTce a
ostatni €lenové obsluhy na lafetovych ramenech. PY¥esunovat se
miZe s hlavni vp¥edu rychlosti 5,5 km/h nebo s hlavni vzadu rych-
losti 25 km/h. S hlavni vpF¥edu se pF¥esunuje na krdtké vzddlenons
zejména p¥i rychl¥ch zm&ndch palebnych postaveni.
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Auxiliary-Propelled Antitank Gun

A cannon is a type of gun designed for fulfillment of combat
assignments using direct fire. This is when it is most effective,
and destruction of the target is attained with a minimum expendi-
- twre of ammunition.

One of the characteristics of a cannon is its flat trajectory.
Point-blank range, that is, the range during which the- apex of the
trajectory of a projectile is not higher than the height of the
target, is dependent on the muzzle velocity of the projectile.

The flatter the trajectory and the higher the target, the greater
the point-blank range.

Muzzle velocity of a projectile is important mainly when used
to destroy armored targets for which high kinetic energy is needed.
Armor-piercing capability of a projectile is determined not only
by kinetic energy, but also by the shape of the projectile's head,

‘b'the,quality of its material, and the angle of incidence on the

armor (target).

It is possible to increase muzzle velocity in two ways--either
by increasing the pressure of the gases on the projectile or, by
prolonging the time during which the gases propel the projectile.
In the first instance, it suffices to increase the powder charge
of the ' round, in the second, a cannon barrel is made lorgers The
larger the charge, the greater the gas pressure on the projectile.
The longer the barrel, the longer the time of gas pressure.

The Soviet 85mm cannon characterizes this type of weapon. It
iis intended especially to accompany motorized rifle units. It is
wsed mainly for combat with tanks, APCs, and other armored equip-
ment, for the destruction of wire and pole obstacles, light forti-
fications, and for shooting into (firing) slots of permanent
defensive fortificationse.

The total length of the cannon is 8.5 m, the barrel is 6.3 m
Ionge. Point-blank range is 1 km, 950 m to be exact. The cannon
is towed by an artillery towing vehicle with a maximum speed of
60 km/h. The crew, ammunition, and other essential material are
"all transported in the towing vehicle.

In combat conditions, the cannon is redeployed with the aid of
& 2-cylinder motorcycle engine, installed on the left trail arm,
including the transmission and (carriage) the brake. During move-
ment the gunner sits on a seat, and the remaining members of the
crew sit on the trail arms. It can move with the barrel (pointing)}
to the front at a speed of 5.5 km/hr or with the barrel to the rear
at 25 km/hr. With the barrel to the front, it moves short dis-
tances, especially during rapid changes of firing positions.

65



CWE-"

Benzinovd nddr¥ o objemu 58 1 je v dutin¥ levého lafetového
ramene a vysta¥fi na 220 km jizdy.

DalXf mechanismus k uleh¥eni prdce obsluhy za zhor¥enych ‘pod-
minek je reduk¥ni pYevodovka, kterd umo¥¥uje jifzdu i v rozmoklém
a zasn¥feném terénu. Kandn md taky samovyproX¥ovaci za¥izeni,
kterd se a4 pou¥it, kdy¥ je v blizkosti n¥jaky pevny pF¥edm¥t, jak:
strom, pa¥ez apod.

Poloautomaticky zdvEr a jednotny ndboj zabezpeTFuji kandnu vys:
kxou rychlost st¥elby (15 mi¥eny¥ch ran/min). 2 toho vyplyvd, Ze t
je dobry prostFedek k ni¥eni obrn¥nych cild.

85 mm protitankovy kandn s pomocnym motorem
85mm Auxiliary Antitank gun

ustovd brzda muzzle brake
hlaven barrel
Seit shield

artillery sight
trail arm
auxiliary motor
drive wheel
road wheel
steering wheel
driver's seat

d8lost¥elecky zamé&rovadc
lafetové rameno
gpocgj'motor

ridfci kolo

hnané kolo

volant

sedaka ¥idiCe

QWU WN -

-
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A 58-liter gas tank is located in the hollow of the left trail

" arm. This is sufficient to travel 220 km.

An additional mechanism to facilitate the work of the crew
under more difficult conditions, is a reduction transmission which
enables movement on muddy or snow-covered terrain. The cannon also
has a self-recovery mechanism, which can be used when some fixed
object is nearby, such as a tree or stump, and so on.

The semi-automatic breech-loading mechanism and single-type
cartridge (round) ensures the cannon a high combat rate of fire
(15 RPMs aimed). From this, it can be concluded that, above all,
it is a good weapon, for destruction of armored targets.
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PRACTICE EXERCISE

Test your knowledge of Czech vocabulary and grammar. On a s
arate piece of paper, write the Czech words/phrases with correct
endings .that will complete the sentences below, make them meanin:
Egl, and grammatically correcte.

1. Xandn se vyznaduje st¥ely.

: 2. Kandn Jje nejefektivnBjS{ p¥i st¥elbd.

;% 3. pDdlka st¥elby, pFi které vySka vrcholu drdhy st¥ely nepYevy
: v¥sku cile, je .

4. Metnd ddlka je zdvisld na stTely.

5. Uim je drdha st¥ely , tim je metnd ddlka .

6. VEtELf prachovd ndplf znamend vySE{ st¥el

7. Tfm je del3i hlavel kandnu, tim je delSi doba plynt
na st¥elu.

8. SovEtsky 85 mm kandn se v bojovych podminkdch pomo
dvouvdlcového motoru.

9. Benzifnovd nddr¥ toho samohybného kandnu na 220 km
jizdy.
10.. Reduk&ni umoZ¥uje jfzdu i v rozmoklém nebo zasn&Ze

terénu.

11. Kandn md& za¥{zeni kterdé se dd pouZit, kdyZ je:v
blizkosti néjaky pevny pFfedmét.

12. Rychlost st¥elby kandnu Jje 15 ran za minutu.

————————————
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SovEtsky protitankovy kandn SD-44 rdZe 85 mm s pomocnym motorem
85mm Soviet Anxiliary-Propelled Antitank Gun SD—-44

TR s ndbojovou schrdnkou na pravém lafetovém rameni
with the ammunition box on the right trail

Xandn s obsluhou za pohybu
The gun and crew on the move
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KEY TO PRACTICE EXERCISE

The following words/phrases will complete the sentences, make
them meaningful, and grammatically correct.

1. plochou drdhou 7. tlaku

2. p¥imé€ 8. pFfemisEuje

3. metnd ddlka 9. vysta®{l

4. po¥dte¥ni rychlosti 10. p¥evodovka

5. plo¥¥L,... vELETL 11. samovyproX¥ovaci
6. poldte¥ni rychlost 12+ mI¥enych

Here are the translations of the sentences:

-

1. The cannon is noted for its flat trajectory.

2. The cannon is most effective during direct fire.
3. The range of fire during which the apex of the trajectory of
the projectile is not higher than the height of the target i

(called) a point-blank range.

4. The point~-blank range depends on the muzzle velocity of the
projectile.

5. The flatter the trajectory, the greater the point-blank rang

6. A bigger powder charge means a higher muzzle velocity of the
projectile.

7. The longer the cannon's barrel, the longer the time of gas
pressure on the projectile under combat conditions.

8. Under combat conditions the Soviet g5mm cannon redeploys wit
the aid of a 2-cylinder engine.

9. The gas tank of the cannon is sufficient for 220 km of trav

10. The reduction transmission enables the movement (travel) on
muddy or snow-covered terraine.

11, As a self-recovery mechanism, the cannon has a winch which
can be used when some fixed object is nearby.

12. The gun's rate of fire is 15 aimed RPMs.
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